MINI SLIDE

ES Mini Corredera DE Mini Schieber
IT Carrello Mini PT Mini Corredi¢a FR Mini Coulisseau

@ Cad Insertion Point

L mat. 1.2510
SLIDES Hardened 522 HRC

Adjusting Working — Mat. 1.2344
/ Hardened 48+2 HRC
+8? C
E+0- Stroke
:
Mat. 1.2344
6.5+0.1 Hardened 50+2 HRC |
|
Mat. Turcite Mat.Brass

F +0.5 B
[ [ | B
p+O1| | ————. ( Lo
— T
_ ,,,,Q Special

T2 Mat. PKT s
Special
Sw3

--ﬂ-ﬂ-------lﬂﬂﬂ----l-

MS.121503 1.6 122 125 185 28 195 3 M5x20 M5x20 12 20 125 4 45
MS.182006 18 41 16 176 165 20 165 225 47 325 16 28 45 5 6 M6x40 M5x25 12 26 155 7 13 4
MS.242608 24 45 20 236 205 26 165 265 53 385 16 28 45 5 8 M6x45 M5x25 17 30 165 7 15 4

Installation Guidelines
Consejos de Instalacion - Richtlinien zur Installation - Consigli di Installazione - Instrucdes de Instalagdo- Mode d’Installation

1] 2]

SLIDE
ADJUSTMENT
PLATE j

AR

Ref. Compatible with =
SP121503 MS.121503 J

SP.182006 MS.182006
SP.242608 MS.242608



https://cumsa.com/QRcMS
https://cumsa.com/QRciMS

INSTALLATION GUIDELINES

ES Consejos de Instalacion DE Richtlinien zur Installation
IT Consigli di Installazione PT Instrucoes de Instalacao FR Mode d’Installation

Core Housing Cavity Housing
Alojamiento Placa Punzon - EinbaumaBe PB Fiihrung - Sede nel Alojamiento Placa Cavidad - EinbaumaBe DR Fiihrung - Sede piastra
Punzone - Alojamento Bucha - Logement dans I'empreinte cavita - Alojamento na Cavidade - Logement dans I'empreinte
# 01 ? 2
H+0.1 ‘ ‘ G ’ ! W ’
[ = |
| | |
5 t 10 ‘ T
AN -
oR M5
+0.3
A+02
r3 10+02
\r [
RS
g 15,
‘ L[
K | W
|
_ |
Slide Body 0.25
|
|
Slide Insert
Core Slide Installation — ———(Cavity Slide Installation
Instalacion Placa Punzon - EinbaumaBe DR Fiihrung - Installazione Instalacion Placa Cavidad - EinbaumaBe DR Fiihrung - Installazione piastra cavita
piastra punzone - Alojamento na Bucha - Logement dans I'empreinte Instalag&o da corredica no lado da cavidade - Logement dans 'empreinte

H
e}

{ ol n
22

Adjustment  Production
Plate Part 0 t
(Optional) — IAVAVAVA

— ‘
ol of



https://cumsa.com/QRcMS
https://cumsa.com/QRciMS

	ms
	MS
	MS
	SP

	MS_2
	MS
	MS
	SP


	QR MS: 
	SLIDES 17: 
	QR MS-V: 
	Botón 783: 
	Undercuts home 134: 
	Botón 706: 
	Ejection home 67: 
	QR MS 1: 
	QR MS-V 1: 
	SLIDES 16: 
	Accessories home 67: 
	Vacuum home 67: 
	Traceability home 67: 


